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:Student: Instructor: Alfredo Alvarez ASS|gnment
Date u\ Course: Math 1314 Sullivan Coreq flnalexamm131421sprm92029
So the?cq ati e 4 d 7 / - 5 / )
o{ sy 2 GG
7x +x2 —63x 9 0 _7 21 2
The solution set is { } . :
(Simp /ly 'your answer. Type an integer or a simplified fraction. Use a comma te-separate answers as neeted: ’/
o Bp-ti A SIS, 3 ) 7 22 2 >
S Answer 2 -
-2.-33 f’\ ’ = T~
K | 0) 7 - =
/ . A
b 39 W/ )(’f( = "\ \/
ID: PF4. — — ) ﬁ
) LA~ =T T Y= ¥y )
-— G z _.---"'{

2. Find th@f the function.

f(x)= -\-f 6x—-48

The domain is . (Type your answer in interval notation.)

L .
Answer: [8,00) //)(} - m

ID: 1.1.59 AN C’('_}lfz:)
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3. For the given functions f and g, compl ?arts (a)-(h). For parts (a)-(d), also find the domain.

f(x) = 5%+ 4: g(x) = 9x - 1 + A =
(a) Find (f+ g)(x). Ft )7 =/

5&:’#4”‘{“(/“3{ + ) -

(f+g)x)= (Simplify your an

What is the domain of f+g? Select tﬁé ggrrft%c/hc;& ber( anc( if ne Ues;iry,

choice.

O A. The domain is {x]

(Use integers or fractions fof any numbers in the expression. Use a comma to separate

answers a-s r?eeded) (‘// j /q ) -
O B. The domain is {x| x is any real number}.
( N A (mx ) =
(b) Find (f — g)(x). S

\/ Orm e
D,

(f-g)(x) = (Simplify ygg\{ - (/ il J/ ( 2,00

~ { -
What is the domain of f— g? Select the i ow-and; if necessary, fill in the-answer box to complete your

choice. (/"/'/M
O A. The domain is {x] }. ﬁ?’('} 2/)(/

(Use integers or fractions for any numbers.in the (%Jressmn Use a comma to separate

answers as needed.) S«- /(_ / / v ) e
O B. The domain is {x| xis any real n ber}

— S T 364 —
(c) Find (f» g)(x).
m +3f—v = )
(fea)(x)= (Slmpllfy youramswery—m

What is the domain of f=g? Select the correct choi ?below and, if necessary, fill in the ansm your

choice. (ﬂ_,_ )/)/ /:)?_ P A 7 /_/ ( ~ L

(O A. The domain is {x| e /7.“/‘//74( Ea ”///

(Use integers or fractions for any numbars in the expressiof. Use a comma to separate ) /

answers as needed,)
B ini i ’//{i =
“/

. The domain is {x| x is any real number}.

f
(d) Find (E] (x).

f . -
[E] x)= (Simplify youranswer.) 7 e

What is the domain of -—? Select the correct choice below and, if necessary, fill in the answer bo tecomﬂg{gyow

choice. "/:ij/( - /Y&/( 2
O A The domainis x| (/ k(%) /9P

(Use integers or fractions fi /Zrany numbers |n the expressmn Use a commyd to separate

answers as needed.) ~f / F f C -+ 3 L/

- .-.,.t oy TCAA = g"ﬁ' "]
e’ 3/12/2020, 6:58 PM
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(/;* 7//)(/1"7(4 .
(e) Find (f + g)(4). ﬁ:— }j/ /{%} ’: :;,Z( 3 )
: - -

(f+g)4)= (Typ __a‘.intgﬁg_ r or a simplified fraction.)
2T P

f-g9)3)= (Type a tager or a simplified fractlon )
5//)\7 g3 (X —

(f) Find (f - g)(3).

ind (fe .
(9) Find (f+g)(2) // (2) (_,0.(/1) ey (t’/ o
(feg)(2)= (Type.an integer or a s1mplrt‘ed
/a//(z = fcﬁfz;ﬁjl(u v

(h) Find [é]m. / /((,_) ” V7 ((/) H(.?{((/_,
: Lol e
5](1)= (Type ;

n lnteger ora S|mphf ied fractron )
Answers 14x+3

B. The domain is {x é y real number}. =
4Z - )/1/17

-4x+5

B. The domain is {xl x is any real number}
/)/ ) «r(// —~y
45x +31x-4 I

B. The domain is {x| x is any real number

S5x+4
9x -1

A. The domain is {x[ X#E—

i /))( ion. Use a comma to separate answers as needed.)

(Use integers or fractions for any nu
59

-7

238

9
8

ID: 1.1.67
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4, f(x + h) — f(x)

Find the difference quotient of f; that is, find h . h#0, for the following function. Be sure to simplify.

fx) = X2 - Tx+2

fx+h) —f(x)
~h

Answer: 2x+h -7 fé *)l/i_— 7)({ Z
ID: 1.1.83 /[(/_f‘;?) @/ -

/(ﬁ/) 7(//4)+z) (’( Xl —
h o
Uekfdh) —7x~1h 2 — XL

/ 2
| N L
(it ixthe (heh S = —1h>e =X T7F

7

R R
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5. Using the given graph of the function f, find the following. ) ,'

;_%ﬂ

(a) the intercepts, if any (/6|
(b) its domain and range
(c) the intervals on which it is increasing, decreasing, or constant

(d) whether it is even, odd, or neither

" A —LL/"’ -}/I;:{j. LI«"E.-"' ;f‘?"f' /l / l
S g Lerarit —L (’ Mo f2)
B £ LG L Fel i /

(a) What are th mtercepts?) )
% ) b( L,{( /y;(,__-f \.L.r: 2;4/ (/LL&Q(

C o) (¢
o) (7‘ )( = Juh]o) becom

(Simplify your answer. Type an ordered pair. Use a comma to separate answers ‘as nead

(b) Trkdomamws_QL§ & C/Je/é /")AJZ //I (m/ﬂﬁ )/, w/ f
(Type your answer in interval notation.) 6\ =5 !Op/
e L0 3] & [ b.tom , 7071 4y
(Type your answer in interval notation.) —————

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within

your choice.
S, = *)J [ / }]
A. Thegraphis Gareasi_r_a on [ ’/ - /
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your

choice.
[-3,-1] Lo, ]
A. The graph(is ecreasmg on

(Type your answer-in-ifiterval notation. Use a comma to separate answers as needed.)
B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph is constant on ,
(Type your answer in interval notation. Use a comma to separate answers as needed.)

_—
Q B. The graph is not constant on any interval. /x

e ———— I~

(d) The functionis (1)

(1X. ¥ even. y
odd.
neither odd nor even.

S5of24 3/12/2020, 6:58 PM
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Answers (- 1,0),(1,0),(0,1)
[-3.3]
[0,3]

A. The graph is increasingon [-1,0],[1,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-3,-1],[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.25
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6. The function f is defined as follows.

2+x ifx<0
f(x) =
2  ifx20

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

/./"-\-
(a) Théi:main}kf the function fis /“~ >, /)7 /
(Type your-answer in interval notation.) '
(b) Locate any intercepts. Select the correct ch0|ce flow and, if necessary, ﬁll/in the answer box to completa your
choice. / v Le: u/ )/,4-»\ [/,_,w.__ /? ,J(

"__".-1' . . E v, -19 f ‘f"‘c_ 7 4 .'/ __//

O A Tr@famepi(s) is/are [ "'*Z 4O ) 0J) o ) )’

(Typean ordered pair. Use a comma to separafe answers as needed.)

{0 B. There are no intercepts.

(c) Choose the correct graph of f(x) below.
ara ~——_

(O

(d) The@f the function f is
(Type your-answer in interval notatioh.)
Answers ( — c0,00) L P

Y~ x -
parate answers as needed.)

(4*-/""{ - —/2

p

A. The intercept(s) is/fare (- 2,0),(0,0) .
(Type an ordered pair. Use a comma to

(- 0c0,:)

e ;/JQ_?_X;“

7 0f 24 3/12/2020, 6:58 PM
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7. The graph of a function f is illustrated to the right. Use the graph of f as the first y
step toward graphing each of the following functions. ?

(a) F(x) =f(x) +2 (b) G(x) =f(x +5) (€) P(x)= —f(x) /5 1 ‘ )

1
(d) Hx)=f(x+2)-2 () Q) = 3 f(x) () g(x) = f(-x)

(9) h(x) =f(2x)

(a) Choose the correct gragh of F(x) ;\f(x) +2 below.

2

8 of24 3/12/2020, 6:58 PM
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1
(e) Choose the correct graph of Q(x) = gf(x) below.

9 of 24 3/12/2020, 6:58 PM
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ID: 1.5.63
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8.
(a) Graph f(x) = |x + 5| - 4 using transformations. Y
(b) Find the area of the region bounded by f and the ““4
x-axis that lies below the x-axis. &
(a) Graph f(x). "
(Use the graphing tool provided to graph the function.) ad_
(b) The area of the region bounded by f and the x-axis J .
that lies below the x-axis is square units. ———t ARAR i st e o S r——t—t—r—>
(Simplify your answer.) s 4 4 %4 o2 ¢ 8 8 90
-2
=
-6
B

Answers

16

/ r’ﬁ’)(;(\ ~

— 1 A
J
Y- mex

‘77 pe 10 (,(f—ﬁr) p— G _
[ of24 5?71— A / =5 /l %/ 7 sl * 311212020, 6:58 P
\‘N”x
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9. Find the zeros, if any, of the quadratic functxon | using the quadratlc formula What are the x-intercepts, if any, of the

graph of the function?
()= 82 + 3+ 12x f'/)/] 5’7)( ’f [’y —f’ﬁ\\\f( W/l J’L/

Select the correct choice below and, if necessary, fill in the answer box to complete your cheice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

O A | =

(") B. The zeros and the x-intercepts are the same. They are )

() €. Thereis no real zero soluhon and no x-intercept.
}@ - ¢ J( ~+(l 4¢3
Answer: B. The zeros and the x- 1nten:2ts are the same. They are

A=Y,

- —

——_,__Z-é_u Ty -l‘,l;-"'

:.4’71{_
DBV, o

Za:_,

V=~ T ) ¢ = i)
< ()

/: ~ (2 Ty —Fs
/6
K’C "/Z Z.V(f’/
/6

12 of 24 3/12/2020, 6:58 PM
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For the quadratic function f(x) = X2 - 4x - 12, answer parts 201‘“’
(a) through (c). ]

16+
{a) Graph the quadratic function by determining whether its 12;
graph opens up or down and by finding its vertex, axis of )
symmetry, y-intercept, and x-intercepts, if any. a
Does the graph of f open up or down? 44

i X

) down 20 16 42 8 4 ] 4 8 12 16 20
O up “
What are the coordinates of the vertex? 8"

124
The vertex of the parabola is i
(Type an ordered pair. Use integers or fractlons for any 16+
numbers in the expression.) 5 05

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice
below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

(0 B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

(O A. The y-intercept is
(Type an integer or a decimal.)

() B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notation.)

The range of fis
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it

iec Aanrraacinn

14 of 24 3/12/2020, 6:58 PM
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Answers up 24§ Km0 ng“f/ //;}4J o T v Se
(2,-16) ‘ /

x=2 —— - = F

A. The x-intercept(s) is/are 6,-2
(Type an integer or a decimal. Use a comma to separate answers as needed.

A. The y-intercept is -12 .(Type an integer or a decimal

Mr/ :
15 of 24 3/12/2020, 6:58 PM
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14

11. Find the vertical, horizontal, oblique asymptotes, if any, for the following rational function.

/X wh (XA =9
/)(/ —— . // o
| S~ [X 575 =078
Select the correct choice below and fill in any answer boxes within your choice. / ' =
X <\

(O A. The vertical asymptote(s) is/are x = . /( :’—"_S‘\\
e

(Use a comma to separate answers as needed.) (

O B. There is no vertical asymptofe: — ;
ﬁ:, ~ c_.f 4
|

Select the correct choice W

\MJ/- : . 7)<
(O A. The horizontal asymptote(s) is/are y = )7 =T ‘ . =
(Use a comma to separate answers as needed.) . /5 bt Aﬂ . 7/(
e

(O B. There is no horizontal asymptote. z ﬁ ,_’A—L,—}A” = = 4&;— i
: Aishorr- ot 0 ot JX

{
Select the correct choice below and fill in any answer boxes \'?ithin your choice.

j A
O A. The oblique asymptote(s) is/are y = . /
(Use a comma to separate answers as needed.) (e . 7
(O B. There is no oblique asymptote. o //j."_’i < -:
g N ey _ = -
dord A (Spephile /G = 7
-5 . . = = il

ote(s)-is/; =

(Use a comma to separate answers as needed. »

__‘___\_\___‘—_‘___'._-’_______‘--"'_
A. The harizontal asymptote(s) is/are y = 7
(Use a comma to separate answers as needed.)

B:__T_h’e[gjs.no-obliqu&asym tote:—— > - _' / T /" j‘ SE;‘;
/ - s 77 A ; (3bge £ JoIE @ %D/ ‘[()
e T oo o tlong Fhes
CLS “1 > L-‘§~L W

//\4/;( [y Ao 0/2/? v, 4:57 ”}/LLK
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12. Forf(x) = 9x + 4 and g(x) = 6, find the following composite functions and state the domain of each.

17 of 24

(@ fog (b) gof (c) fof (d) gog
(@) (fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A. Thedomainoffogis {x| )}
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o g is all real numbers.
(b) (gof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domain of g o fis {x | 3.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o f is all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

2 A. The domain of fo fis {x | }s
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

() B. The domain of f o fis all real numbers.
(d) (gog)x)= (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. Thedomainofgogis{x| }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

() B. The domain of g o g is all real numbers.

AUPS./7ACIIProd. peal SONCin g.coll/ap /v 1/ priviilatn

3/12/2020, 6:58 PM



Answers 54x +4
B. The domain of f o g is all real numbers.
54x +24
B. The domain of g o f is all real numbers.
81x+40
B. The domain of f o f is all real numbers.

36x

1
B. The domaln of g o g is all real numbers. j 1A= é‘ 5(

N e P,

(o3 )
// 98) -

18 of 24 3/12/2020, 6:58 PM
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\. The function f(x) = 8x — 2 is one-to-one. T
(a) Find the inverse of f and check the answer. el
(b) Find the domain and the range of fand f 1. 16
(c) Graph f, f ! , and y = x on the same coordinate axes.

@f "= "

(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) :

_ , _ 20 46 42 8 4 | 4 & 12 16 20
(b) Find the domain of f. Select the correct choice below o
and, if necessary, fill in the answer box to complete your ]
choice. 8
-12-
A. The domain is {x|x# )k
1
B. The domain is {x|x < }. g
20
C. Thedomainis {x|x=  }.
D.

The domain is the set of all real . B/ w=
numbers. ][s(/ z )( :
s

Find the range of f. Select the correct choice below and, if /
necessary, fill in the answer box to complete your choice. ff\/)
f

The range is {ylyz }

The range is {y|y < 3. %JI —f T

The range is the set of all real numbers.

The range is {y|y¢ S } /’X -

oo w >

Find the domain of f~ 1. Select the correct choice below /(’/(
and, if necessary, fill in the answer box to complete your
choice.

A. The domain is {x|x2 } /f'
B. The domain is {X|X¢ o }
C. The domain is {xlxs } X/(
D. The domain is the set of all real
numbers.

/

Find the range of f ! Select the correct choice below aqa. -
if necessary, fill in the answer box to complete your chqiree"_

A. Therangeis {yly= b, /
B. Therangeis {ylyafE }
C. Therangeis {ylys 7 }

» D. The range is the set of all real numbers.

-1
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x+2
8

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.

D. The domain is the set of all real numbers.

D. The range is the set of all real num rs/fz:T)
77 -8
(A

Av
204

ID: 4.2.53

14. Solve the equation.

-x+21

8 =16"

The solution set is
(Type an integer ora sn‘nplged frachon Use acomma to separate answers as needed.

Answer: 9 ‘ ? — %

—3 )("fCS =7 X /
—3 gt =3 =YX~ G
— 3%y f-fkf)( - ¥ — 63— 9X

ID:4.3.73
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é(./ (Z)(’rf/F 5

5 v (’,(w/’a

Change the given logarithmic equation to exponential form. 72 Z )(_—/ /

HHdICAQIUN 1O 1322 LSPHNUIEZUVZU=-ALTCUO AlVAICZ P

15. Solve the equation.

log,(2x+1)=3

(Type an equation. Do not simplify.) Z 2_,“ Z = L’é// /

The solution set is { b g n a)/'f /
(Simplify your answer. Use a comma to separate answers as needed. )

5._.( Cxtr! —/

Answers 9y 4 1 =23 .
== .>(
: Vi
: 7z ¥
" L_ s : \
ID: 4.4.91-Setup & Solve @
= _,l;i _———

16. Find the amount that results from the glven investment.

T

\
@investe@% oompoundeQarterlyfaﬁer a per:o@rsﬁ

After 4 years, the investment results in $ B M

Round to the nearest cent as —“L‘é
(Answer 823.67 t ,?f} ( ‘5‘)(/ ¥)
A- Goo(l /i)

ID: 4.7.7 Al (()O //-—f /ffi() 1€ ( 2’53 6
17. Howiman Mwlllta,l@_fpr\an initial investment of $30,000 } growto $45, 000? ﬁssumea rate of interest of
14%compounded contmuouslyk

e ¥

It will take about years for the
(Round to two decimal places as needed )

Answer: 2.90 (/4 -—/ﬁ( //(
Y &guoo

ID:47415 ¢ ) U
AL

VAR f”’/ﬂf*f(
/H/m-):/f/f’ Y
/g/ﬂf)g ,/‘/é/é'/?/
/fﬁgz JSYE(1) )

/-/’ 5‘) T e / ‘7/{ _— = - 2

—— e

6:58 PM
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¥ —29) =6 - ~
[sx+% =5 (79X - 57
9 (9 (G

[9X+0 =5 S

elect the correct choice below and, if necessary, fill in any answer boxes within your choice: ,}/ — \
J =

-3y=6
5x +y =17

18. Solve the systewjf(equatlons If the system has no solution, say that it is inconsistent. / 9 J( < "7

O A. The solution of the systemisx= andy= S .
(Type an integers or simplified fractions.) j% é 3 (f { .
(O B. There are infinitely many solutions. Using ordered pairs, the solution can be written as

{xyix= , y any real number}. & (5 5‘} z 6

(Simplify your answer. Type an expression using y as the variable as needed.)
O C. The system is inconsistent. ] 1 = 37 <«
ﬂ = 59 "ﬁ = 6-—'/ 4

Answer: A. The solution of the system is x= 3  andy=
(Type an mlegers or_simplified fracttons )

C{/ \ - 3 7
/ 7 3 4 ) = - 3
ID: 6.1.33 o
19. Solve the given system of equatlons If the system has no soluhon s y that it E[?)Q jastenj )/Y f,y P

/? 1/,4
-3y+4z= 8 }Vp / é //

e yea- [ =5 ‘( 4
mraiamcfl T 1Y
o =7 B _3

Select the correct choice below and fill in any answer boxes within your choice.

O A. The solution is x = - e ,andz= . (Type
integers or simplified fractions.)

O B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy2)|x=  |y= , z any real number}.

(Simplify your answers. Type expressuons usmg z as the variable as needed.)

(O €. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy.2) | x=_ . yanyreal number, z any real number}.
(Simplify your answer. Type an expression using y and z as the variables as needed.)

(O D. The system is inconsistent.

Answer: A.
The solution is x = 1 ,and z= 1 .(Typeintegers or

Simpnz'idfjcg;s') <Arix /% = A ll ///(/( )
ID: 6.1.45 V'/ J@Z}j /
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20. Find the real solutions of the equatlon Z ) ~ / 3 f(, l/'-" 7| /L W
3+4/2x+2 =x

,—/

—

Select the correct choice below and, if necessary, fill in the answer box to compléte your answer.

(O A. The solution set is {___ - }
(Simplify your answer. Use a comma to separate answers as needed.)

(O B. The solution is the empty set.

Answer: A. The solution set is { 7 ¥ - -ﬂ;""'( :
(Simplify your answer. Use a comma to separate answers as needed.) f@//’J ‘ § A

ID: A.8.55 (b AL ) (/ Y lﬁg&uu{
<2 “( A3 )=/
s

\

L+l =
2¢et = K =6
O//L 6 X+5 -l
O° 30+
0 k—1 k=)
/ (_/‘_) ort /{/'-7—“)
)(/(,ﬂ d-f/ Or/( /( 7_'47 27}
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